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General Instructions :
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(1) Please make sure that the printed pages in this
question paper are 8 in number and it contains 7
questions.
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(i) The Code No. and Set on the right side of the question
paper should be written by the candidate on the front
page of the answer-book.
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(iii) Before beginning to answer a question, its Serial

Number must be written.
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(iv) Don’t leave blank page/pages in your answer-book.
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(v) Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written

answer.
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(vi) Candidates must write their Roll Number on the

question paper.
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(vii) Before answering the questions, ensure that you have
been supplied the correct and complete question paper,

no claim in this regard, will be entertained after
examination.

PYFT Jo7] F FT &7 @ g7 GrRET & @ [ Je7-7
g 7 @& & YHeT ® I §9 T 7 g arar
&NHIT T8 I T3

(viii)All questions are compulsory.
a4t g97 Sffard &1

(ix) Answer the questions of Unit - I (i) to (x) by choosing
correct option and questions (xi) to (xv) answer in 25
words each. Each question carries 1 mark.
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(x) Answer the questions of Unit - II in about 70 words
each. Each question carries 3 marks.

gfe - 11 % 59% 597 @ Fa¢ 797 70 =] 4
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(xi) Answer the question of Unit - III in about 140 words.
This question carries 5 marks.
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